ITI Wireman 2nd Year Module 9 Winding

(1). What is the another name of un balanced winding? | 31{-igi.€'1d dl‘é%‘l G|
IR AT 1 82

(A) Even group winding | WW%‘{NH@%"Tlﬁ
(B) Concentric winding | W@H?ﬂgﬁbﬂ

(C) Odd group winding | 3oie NEE dl‘é%‘l

(D) Basket winding | dchC JHIdaR

Correct Answer : C

(2). What is the name of winding? | HE@TW:IWW%?

(A) Balanced winding | ﬂﬁ%ﬁﬂﬁ%ﬂ
(B) Double layer winding | S AR Asf&T

(C) Single layer winding | RIS W?ﬂgﬁbﬂ
(D) Unbalanced winding | &mﬂﬁ‘lﬁaﬁ%ﬂ

Correct Answer : B



(3). Calculate the number of coils per phase per pair of poles of 3 phase motor
having 2 pole 24 slots 12 coils. | 2 TId 24 TIC 12 Hisd dTdl 3 TR AIC b TAD

SIS & Ufd TRUT Bhisd B BT D1 T B |

(A) 1

(B) 2
(C) 3
(D) 4

Correct Answer : D

(4). Which type of testing of winding is illustrated? | W%WW%
TRI&0T T qUi fohaT T &2
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(A) Voltage drop test | dlecol SIU URI&UT
(B) Polarity test | {{ddl URI&TOT

(C) Short circuit test | Qe Tfdbe TL&fuT
(D) Resistance test | UTaRIY TIT&OT

Correct Answer : D



(5). What is the name of winding? | HE@TW:IWW%?

S S . S R O G SR AR

JULEEIHEE

(A) Basket winding | dchC JHIdaR

(B) Concentric winding | {-iaf)l?id dl‘{;%‘l

(C) Skein winding | ThH] dl‘{;%‘l

(D) Flat loop over lapped winding | aLS dl‘{;%‘l P BHW Lfad oy

Correct Answer : D

(6). What is the formula to calculate pitch factor? | ﬁ%rﬁv—daﬁﬂvmmﬁw
T FTG?

(A) No. of poles / No. of slots

(B) No. of slots / No. of poles

(C) Pole pitch / Winding factor

(D) Winding pitch / Pole pitch

Correct Answer : D

(7). Why pre heating is necessary for motors before varnishing in rewinding

process? | mmﬁmﬁmﬁﬁ%%ﬂmﬁw
I 8?

(A) To drive out the moisture in between winding layers | HIE'%"T@W%W
&1 THI 1 18R fep T & ferg



(B) To dry the varnish quickly | Wﬁﬂﬁﬁﬁ@ﬁ%%ﬁ

(C) To easy flow of varnish in the winding | W@Tﬁﬁ]ﬁﬂ% WW%
ferg

(D) To increase the insulation resistance value | WW‘UWW%

Correct Answer : A

(8). Which is fractional pitch-short chorded winding? | Thawd g1 dlos
IRfETHH A |2

(A) Coil pitch < Pole pitch | Ped Ud <UId fUd
(B) Coil pitch > Pole pitch | $red U > Uid U
(C) Coil pitch = Pole pitch | ped U = Uil fira
(D) Coil pitch = 1/2 Pole pitch | Pigd Ud = 1/2 Uid U=

Correct Answer : A

(9). Which is the type of rewinding process? | |Qa|§|§‘| WWWﬁ%?
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(A) Skein winding | Th] dl‘é%‘l



(B) Machine winding | 'J:I'Qﬂ:fa'lg%ﬂ
(C) Hand winding | %3313'%7[
(D) Former winding | WH@%"T

Correct Answer : C

N N

(10). Which is the demerit of 3 phase concentric winding? | 3 dRU[ Hah[%d
ST HI DAL §?

(A) More space is required | 3Yh U P! G{WT%

(B) More difficult to shape the coils uniformly | GI‘JT‘&Q'%I B JHH ©0 I 3HR

&1 3P S 8
(C) Less space for coiling | g’>5|'€1c| B %]%’I’QWW
(D) Required more labour | b 9H Bt &WT%

Correct Answer : D

(11). Which type of AC motor winding the number of coil / pole / phase is more

than one arranged in different slots? | B UHR &1 AC AR ﬁ?ﬂg%ﬂﬁ
Blgd/UId/ Tl &1 T-AT AT-3] Tiic H Uob ¥ 3Hfep AR Bl 82

(A) Concentric winding | {-iaf)l?id dl‘{;%‘l

(B) Basket winding | dTchC dl‘{;%‘l
(C) Concentrated winding | Jobf~sd dTafal
(D) Distributed winding | fadiRd argfeT

Correct Answer : D



(12). Which formula is used to calculate the total electrical degree in stator of an

AC motor? | ACHICR & TR H ol faggd f&Hl &1 oM o it fovd g 1
ST a1 STt 62

(A) 180° x No. of poles
(B) 180°/No. of poles
(C) 180°/No. of slots
(D) 180° x No. of slots

Correct Answer : A

(13). Calculate the number of coils / phase / pole for a 3 phase double layer
distributed winding for a motor having 36 slots 36 coils and 4 poles. | 36 ic 36

Pigd 3R 4 Ui ATl HIex b AT 3 TRUT ITelt S9a AR faaia agfen & fau
Bigd / ol / U &1 TRST B! UFT HY |

(A) 12 Coils / Phase / Pole | 12 Haferal /ol / 4d

OB

(B) 9 Coils / Phase / Pole | 9 @SI?“ILII /Wl / Yd

A4

(C) 6coils/Phase / Pole | 6 ngi‘EMI / ol /4d

o~ v

(D) 3 coils/ Phase / Pole | 3 gi’JSI g1/ ol /4d

Correct Answer : D



(14). What is the function of collar marked as 'X'? | X' WWWWW%?

ﬁ
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(A) Provides insulation for coil tapping | ﬁ%ﬂ e %ﬁﬂ ‘éﬂ@@i-‘ll"l Ul hdl

g

(B) Provides insulation one side of coil | @SQ'I & Jh R ‘ér{iafll"l Ul drdl

g

(C) Helps tightening material for flange | ﬁﬁ%ﬁ“l"IWﬁag?mﬁ
Hee Bl e

(D) Provides insulation around field | uﬁ%%aﬁsﬁ?s—gaw Ul hdl %

Correct Answer : D

(15). What is the name of AC coil winding? | AC 0I’JT$('1 dl‘{;%‘l D[ [TH H] %?
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(A) Whole coil winding | W@SQ’I qrefST]



(B) Half coil winding | 3THT @6(‘1 JHIdGIR
(C) Single layer winding | RIS W?ﬂgﬁbﬂ
(D) Double layer winding | S AR ATsfST

Correct Answer : A

(16). What is the advantage of hand winding method? | au@gmﬁﬁﬁfﬁw
AT FT§?

(A) No need of winding former | 13|°724$ff dl‘é%‘l Pl <Jb\l‘qf ARG hdI :Igbf

(B) Requires less copper | dis @1 B 31Id-‘2qcbdla?ﬁ%
(C) Used for big size motor | §§ 3THR DI HICR & fou I fear Sar g

(D) Easy slot insulation | 3{THIH le Sr{iafll"l

Correct Answer : A

(17). Why short pitched winding is used in all machine? | gt =i A wiré fug
RS BT SUTANT I {1 STl 62

(A) Less copper loss | H@WWW’F{
(B) More space for coiling | PSfeld B o [eTT 3{fdes T
(C) Easy end connections | 3T 3id B

(D) Coil insulation easy | pSd ‘ér{ia-‘ll"l SURSIE|

Correct Answer : A

(18). Which type of winding in alternator produces uniform sinewave? |

e B T UPR P AEfET b Y AI549d S hdl o2

(A) Unbalanced winding | 31{-igi.(\'1d dl‘{;%‘l




(B) Balanced winding | ﬂﬁ%ﬁaﬁ%ﬂ
(C) Full pitch winding | @me
(D) Short pitch winding | ﬂﬁﬁﬂaﬁ%ﬂ

Correct Answer : D

(19). Why the newly rewound armature must be preheated before varnishing? |

I RdE R &I AR ¥ Ugd ¥ 8 TRH 1 BT d1e ¢ ?

(A) Help for quick drying of varnish | ClEREARIL] {;L{QII'?I H SNEERI

(B) Drive out the moisture from it | @ﬁﬁﬁﬁﬁl@?ﬁmﬁé

(C) Maintain uniform spreading of varnishing | IR BT U JH[H UHIR U

3

(D) Make easy to penetrate varnish inside | == Y 3 AT 31T SRy

Correct Answer : B

(20). Which formula is used to find the pole pitch? | WWWW%W
o G &1 SUAIT [T ST 82

(A) No. of slots / No. of poles | TIC o1 TSAT / UTell ol TAT
(B) No. of poles / No. of slots | TIcll &1 TSHT/ZACl D HJHAT
(C) Winding pitch / Coil group | TS fUd / s Ig
(D) Coil group / Winding pitch | ed HHg/dTele fUd

Correct Answer : A

(21). Which type of winding wire is used to wind submersible pump motors? |

JIARITd U9 HieRl &l gal ¢ & AT ford UhR & YHTGER IR &1 SUANT faa
ST 8?



(A) Super enamelled copper wire | JUX Q:IIfI@ die BT AR
(B) Double cotton covered copper wire | Sd¢1 Hicd I gl E&HFI'IQWFI'IT
(C) Single cotton covered copper wire | T pled T TP E&H?‘Iﬁﬁaﬁ

(D) PVC copper winding wire | PVC §IE] dl‘{;%‘l diR

Correct Answer : D

(22). Which type of AC winding the number of coil / pole / phase is more than one
at different pitches? | fHPT ISR BT AC dl‘{;%‘l H -3 U=l IR
PHigdl/UIdl/Bs B TS U U P gl 87

(A) Skein winding | Th] dl‘é%‘l

(B) Diamond coil winding | SHS @SQ'I dl‘é%‘l

(C) Involute coil winding | ‘é"IdTQ'OI GI’JT‘&('i dl‘{;%‘l

(D) Flat loop over lapped winding | al-s dl‘{;%‘l F IR Lfad oy

Correct Answer : D

(23). Which is fractional pitch-long chorded winding? | o fUg-dl<T dlog

TEfETER A ??

(A) Coil pitch < pole pitch | Pd U= < UIdt fUd

(B) Coil pitch = 1/2 Pole pitch | ®isd Ud = 1/2 Tid U=
(C) Coil pitch = Pole pitch | ped U = Uid fUra

(D) Coil pitch > Pole pitch | pad fUd > Uid fira

Correct Answer : D



(24). Which type of winding is used for AC single phase machines? | AC R Thol

ARA! & foIE fore U &1 are ST &1 SUT fohar ST g2
(A) Concentric winding | T iod aTgfaT

(B) Lap winding | <TT AT&f&T

(C) Wave winding | 9d dTSf&Tl

(D) Duplex lap winding | SWRIGRT <0 TS

Correct Answer : A

(25). Which type of winding is illustrated? | fPgupR &t dl‘é%‘l 1 Fomron fean
T g?

(A) Unbalanced winding | 31{-igi.(\'1d dl‘{;%‘l

(B) Balanced winding | {-iglra“ld dl‘é%‘l

(C) Double layer winding | Sd¢i SRR dl‘éfg‘l
(D) Single Layer winding | RITTd Wﬁlﬂ‘%’ﬂ

Correct Answer : D



